
SAP ABAP table PA0052 {HR Master Record: Infotype 0052 (Wage Maintenance)}

PA0052

MANDT [CLNT (3)]

PERNR [NUMC (8)]

SUBTY [CHAR (4)]

OBJPS [CHAR (2)]

SPRPS [CHAR (1)]

ENDDA [DATS (8)]

BEGDA [DATS (8)]

SEQNR [NUMC (3)]

PREAS [CHAR (2)]

TRFAR [CHAR (2)]

TRFGB [CHAR (2)]

WAERS [CUKY (5)]

EIN01 [CHAR (3)]

EIN02 [CHAR (3)]

EIN03 [CHAR (3)]

EIN04 [CHAR (3)]

EIN05 [CHAR (3)]

EIN06 [CHAR (3)]

EIN07 [CHAR (3)]

EIN08 [CHAR (3)]

EIN09 [CHAR (3)]

EIN10 [CHAR (3)]

EIN11 [CHAR (3)]

EIN12 [CHAR (3)]

EIN13 [CHAR (3)]

EIN14 [CHAR (3)]

EIN15 [CHAR (3)]

EIN16 [CHAR (3)]

EIN17 [CHAR (3)]

EIN18 [CHAR (3)]

EIN19 [CHAR (3)]

EIN20 [CHAR (3)]

PA0003

MANDT [CLNT (3)]

PERNR [NUMC (8)]

 PA0052-PERNR = PA0003-PERNR 
0..N

1

T000

MANDT [CLNT (3)]

 PA0052-MANDT = T000-MANDT 
0..N

1

T510A

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

TRFAR [CHAR (2)]

 PA0052-TRFAR = T510A-TRFAR 
0..N

{0,1}

T510G

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

TRFGB [CHAR (2)]

 PA0052-TRFGB = T510G-TRFGB 
0..N

{0,1}
T530E

MANDT [CLNT (3)]

INFTY [CHAR (4)]

PREAS [CHAR (2)]

 PA0052-PREAS = T530E-PREAS 

0..N

{0,1}

T538A

MANDT [CLNT (3)]

ZEINH [CHAR (3)]

 PA0052-EIN01 = T538A-ZEINH 

0..N

{0,1}
 PA0052-EIN02 = T538A-ZEINH 

0..N

{0,1}
 PA0052-EIN03 = T538A-ZEINH 

0..N

{0,1}
 PA0052-EIN04 = T538A-ZEINH 

0..N

{0,1}  PA0052-EIN05 = T538A-ZEINH 

0..N

{0,1}  PA0052-EIN06 = T538A-ZEINH 

0..N

{0,1}  PA0052-EIN07 = T538A-ZEINH 

0..N

{0,1}  PA0052-EIN08 = T538A-ZEINH 

0..N

{0,1}
 PA0052-EIN09 = T538A-ZEINH 

0..N

{0,1}

 PA0052-EIN10 = T538A-ZEINH 

0..N

{0,1}

 PA0052-EIN11 = T538A-ZEINH 
0..N

{0,1}

 PA0052-EIN12 = T538A-ZEINH 0..N
{0,1}

 PA0052-EIN13 = T538A-ZEINH 

0..N

{0,1}

 PA0052-EIN14 = T538A-ZEINH 

0..N

{0,1}

 PA0052-EIN15 = T538A-ZEINH 

0..N

{0,1}

 PA0052-EIN16 = T538A-ZEINH 

0..N

{0,1}

 PA0052-EIN17 = T538A-ZEINH 

0..N

{0,1}

 PA0052-EIN18 = T538A-ZEINH 

0..N

{0,1}

 PA0052-EIN19 = T538A-ZEINH 

0..N

{0,1}

 PA0052-EIN20 = T538A-ZEINH 

0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 PA0052-WAERS = TCURC-WAERS 

0..N

{0,1}


